=! Inter polace polynomem

| Zadani stejné jako iedchozim ...
> f:=x->cos(x)+sin(x);
N1: =3;
N2: =5;
a: =0;
b: =2*Pi ;
des _m s: =2;

X1:=[seq(((b-a)/N1)*i,i=0..N1)]:
Y1:=[seq(f(((b-a)/N1)*i),i=0..N1)]:
X2:=[seq(((b-a)/N2)*i,i=0..N2)]:
Y2:=[seq(f(((b-a)/N2)*i),i=0..N2)]:
readlib(interp):
il:=eval f(interp(X1,Yl, z),des ms);
i 2:=eval f(interp(X2,Y2,z),des_ms);
i _1:=plot(interp(X1,Yl,z),z=a..b,color=blue):
i _2:=plot(interp(X2,Y2,2z),z=a..b,color=red):
g: =pl ot (si n(x), x=a. . b, col or=bl ack):
wth(plots):
pl ot s[display] ({g,i_1,i _2});
f:=Xx - sin(x) + cog x)

N1:=3

N2:=5

a:=0

b:=2m

des mis:=2
i1:=0.0972 - 0.70Z +0.7z+1.
i2:=0.087'+1.3z2-0.0052 - 0.87 - 0.12° + 1.
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